4.2.1. x S SJady 8 3¥NIodwan wdDTeed 5x-4x*+3 G BINYRY, Bo&HBAO.

Do. | X f(x)=27

(i) |x=0 f(0)= 5*0-4*0*0+3=3

(i) | x=-1 | f(-1)= 5%(-1)-4*(-1)*(-1)+3=-5-4+3=-6
(iii) | x=2 f(2)= 5%2-4*%2%2+3=10-16+3=-3

4.2.2. & 3¥NS F3akeomd wdETeedo p(0), p(1) DI p(2) MY BoRBAMD.

37, p(0)=2? p(1)="77 p(2)=27

p(y)=y?-y+1 p(0)= 0%-0+1=1 p(1)= 1%-1+1=1 p(2)= 22-2+1=1
=4-2+1=3
p(t)=2+t+2t>-t> | p(0)= 2+0+2*0%-0°=2 |p(1)=2+1+2*1%-1° | p(2)=2+2+2%*2%-2°
=2+142-1=4 =2+2+8-8=4
p(x)=x> p(0)= 0°=0 p(1)=1°=1 p(2)=2°=8
p(x)=(x-1)(x+1) | p(0)=(0-1)(0+1)=-1 p(1)=(1-1)(1+1)=0 | p(2)=(2-1)(2+1)=1%*3=3




. B BYNIYNW, PYNTDHD FTRBIT waateedny B Bnve domd B02ed.

p(x)

p(x) =27

2R3 27

3x+1

D(-%) =3*(-% )+1=-1+1=0

x=-Z uadecged drE ens

p(g) =5*(% ) -7r=4-7r| 0

=2 wsbadecdad dord ey

p(1)=1%-1=0

X=1 wa3TeeS B3I sNT.

p(-1)=(-1)*-1=1-1=0

X=-1 wmsdeedad BIZ sNT.

(x+1)(x-2)

p(-1)=(-1+1)(-1-2)=0*(-3)=0

X=-1 wmadeedad B3 B8NS

p(2)=(2+1)(2-2)=3*0=0

X=2 wmaunedad 2SI B8NS

X2

p(0)=0%=0

X=0 wmzdeedad SIS B8NS

IX+m

p(-Tm)=|*(-Tm)+m=-m+m=o

x=-1 wmateedad 233 NS

3x2-1

wIBTRZM IS 8NT.

wRBERESD BII BNy

X waateedod B3 eshy




4.2.4. 3 39NIT 3000w wBBHRLZM BAFBADRY BoDHBAD.

ASDAD 1 X oD p(x) 3 S wnelezons p(X)=0 wnde Ses.

o.

p(x)

p(Xx)=0 esrieIez9lT3 x="77

P wIBHReZD IS

(i)

X+5

X+5=0 = x=-5

-5

(ii)

X-5

X-5=0 = x=5

5

(i)

2x+5

2xX+5=0=>2x=-5 .. x=-

S
2

(iv)

3x-2

2

3X-2=0=>3x=2 ..Xx=

(v)

3x

3x=0=>x=0

(vi)

ax

ax=0= a=0

2
3
0
0

(vii)

cx+d=0 = cx=-d .. x=-

d
c






